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However, 3''1 said, etc. — 9933 271 920 AR

OVERVIEW

There is a NP7 between 3"2w7) X", as to when we are R"Y 9"¥ 7131727 79vn. The
X1 says that we cannot assume that the np12mn is in a case where an X"V was
already 7v7¥» on the 71170 status; for 73m° 27 taught that everyone agrees W7y X
o1wn nno. Therefore if there would be merely an 7177 9v7p, all would agree that
X"V 9"y 713797 7Yva. This statement of "1 is mentioned several times in 0"W;
always in the form of a challenge: ‘But *"7 maintains 2°10» Mo vy PX°. It never
says explicitly in what context *"1 made this statement.' Our mooin will resolve
this issue.

— NN NIYA TN 19937 995¥ 13N 5297 PN 135295 AN
And the %''1 is of the opinion that the main statement of 3217y '3 concerning 7°X

°1wn Mo vy was taught regarding this 73w of 71752 1ovn PX.
— 1599192 199X 7 TYIN 399 INOTI) 13 PYNY 139 939510 991 937 IRPT 13990

And that (is) which °"1 said ‘all agree’, refers to »'"'2w9 and X''9 for they are
discussing ‘contesters’; they both maintain (according to >"9) that 21wn NS YW TX.

moon will substantiate his opinion that °"9 is discussing this 7Iwn:
— MIVYIT NPIN RIINT NI 95 93N NI WM XP XY »90D

And therefore, since >"7 specifically maintains that 3"2w7 and X"9 both agree that
QIWn MnD WY PR, the X3 does not answer here that perhaps X"71 3"2w9 are
arguing over 17 7Y, and even though °"9 stated o°1wn Mo w7y X these words

(of 711> ") apply only where there is a presumption of M9w>; only in such an
instance are two 0°7¥ required to revoke the N1 w> npin -

— 98 RY MIYIT NPIN XYY NN YaN
However where there is no n > np, then *"1 did not say this ruling of w7y PX
o1wn mind. The X3 seemingly could have given this answer with the understanding that in the
mawn of 131 7%yn PR there is no MAw> np1n. Therefore X" can maintain 77 9y7Y and not be in

" Indeed the 0"2w here comments that it was never specified in which context *"7 made this statement..
* It obviously applies to other situations as well, since the X3 refers to this statement in various situations.
? The n"27 nix7 amends this to read 8 instead of 1m.
* It may initially seem difficult to maintain that >"7 is referring to X" 3"2w", since their argument entails either
RI7 27 RM?°T or M7y M17°%; and not concerning Myy. Nevertheless since they are 71712 "X, their case consists of
1771y, therefore °"' states that it must be two 1°371 and no less.
> There would be no need to say that our 73wn is in a situation where X7 37737 71282 12 P, Rather there is no apmi at
all.
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conflict with >"1. This distinction between MAW> NP XX and MWD NP1 RO is a valid
distinction concerning 2°1wn NID WY X -

— %475 DT 91299 95N NN 33 (3,08 41 perTp) PONY NIYY P9 2IYNTH
As the X713 answers in PO 79wy P95 concerning the ruling that a midwife is

believed to say ‘this infant is a 3772°. The explanation why the X773 does not give the same
answer here, is because the X3 knew that >"1 -

— 75N NINT PIINNNT
was referring to this 71wn of 121 Poyn PR, when he stated that 2°3wn mno AW PR 927 727
"9 is clearly stating that both 3"2w" and X"9 agree that »"9yX. Therefore we cannot say that they
argue in a case of 717 Ww7Y.

mooIn asks:
— NP NONT PHNNNNT 1172 99NRN ON)

And if you say; since >"1 is referring to this 73w of PHvn PR -

— (EWIN 41 TPOAT NP P2 DND D139 T 9391
How does the X713 there in 7Pu7°2 challenge the ruling there from the statement
of *"1, and similarly in the first 95 of 9w N30n; where the X113 also challenges the
presumption that it was an 7v7¥ 71 from the statement of *"9. If > is specifically referring to the
mawn of 1PHyn PR, then the Xm3 could not challenge the rulings in 1°v°x and 1w17°p; for -

— T95want 1NN 1 NIINT DIYN 13291 D2YN HIND 9P9Y 1IN 1IN 229 9INPT XN NYY
Perhaps that which >"1 said that 2>1wn ne w9 PK that is because in the 71wn of
Tyn PR, where X" and 3"awn discuss how we can be 721737 739V, there is one 7v
who is 99227 this person to be a 3712. In such an instance > says that if there is an wana X"y,
then there can be no 77 ¥ on his MW unless two 0°7Y are Iw7v». However in the cases in Nnoon
PWITRY P where there is no wana 7,'° then perhaps even *"1 would agree that even an w7y
717 is a valid 7y (even in cases where there is a mAw> nprm).'!

% The xn»"2 there states that the ;71 is not believed if there is an 757 on the status of the child. The X3 there asks
how can an 7"y of one contradict the testimony of the i°m; "9 says 0°awn mnd w7y PR. The X3 answered that
there is a difference whether there is a M Ww> NP1 or not. In the case of °n NanXi, the infant never had a MAw> np1;
therefore even an 717 7w is sufficient.
" mpoin will therefore assume that in the m1wn of 1"9un X there is a MW npi (as the X3 shortly concludes). This
will avoid any discrepancy with the X723 in 7"W17°p (see previous footnote # 6).
8 The mawn there states that if a v3 is brought in *"X and there are 1171 then 1012 o»pn>. The Xnx asks, it cannot
mean 717 WY for °"'7 maintains 1"DYR, etc.
? The np1orn between X171 3"2wA is concerning X"y 5"y nas% 1own; implying that there is an wona 7v.
' See “Thinking it over’.
" If we would not assume that >" is referencing this n1wn, then it would be difficult to maintain that > is
discussing only a case where there is an 7°woni7 7v. It is not implied in his statement. However now that mson
maintains that >"9 is referencing this 71wn, and the ;7712wn is discussing a case of 7°wani1 ¥, then it is implicit that "3
ruling may apply only if there is an "w2n 7.
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Mo0IN answers:
— YN 12 RINY 2P DY RET 720197 99910 1IN 2397 Y75 XIIINT 9210 v

And one can say that the X713 that asked these questions in 7"217°21 1°0°3 NIN20A
knew that "1 is discussing a particular situation as the X3 concludes that
originally it was presumed that that the father of this individual was a bona fide
172, and it was afterwards that a rumor was spread that the individual is the son

of a divorcee; invalidating him from the 727715 —
— 59)5 5951 53 IINY DYPN DAY PYUINT TN 1Y N2 T2 INN)

And afterwards an X''Y who was 29w>» came to remove the rumor and then

two 0°7Y came, etc.; to substantiate the rumor (and finally an additional X"Y came to deny the

rumor).
— DNVYN MNS lzj’N‘l 93N9% 229 9N NI *NND)

And it is in these circumstances that ''9 said »'"'DYR. It is concerning these (two) who

"

come to substantiate the rumor, that °"1 says that there need to be two to substantiate the rumor;
otherwise the 7°wonn X"Y will be believed against the rumor and the 2y7vnn X"y,

moon will now conclude the answer:
— 97 1NINDD DIPNY PYWINY TN T¥T 2) DY 9N

And even though that when the two 2°7¥ who are ¥7¥» come, the situation is that
the X''Y who was ""2>» and the rumor that denied him 121770 status; these two,

the 79 and the 7p it is as if they do not exist; the cancel each other out. When the two
o°7y are WY, it is as if there is no X"y and there is no 2 (as moown will shortly explain).
Therefore since "7 maintains that two 27V are required to make this w7y, it is
tantamount to saying that two 0°7¥ are required for an ¥y, even if there is no 7°*woni 7v. The v
7*woni here is cancelled out by the 21p.

mooin will explain why the 2°woni X"y is cancelled out by the 91p:

15099 199X 1¥N) YOI DIPN S9PY NPINA XY BN 920 19 9193 190 39V
For the 7v is inferior to the rumor (as Md01n will point out) if there was no ;1p17.
Now there is a p1; the father is prmn as a 373, therefore even though there is a 9
that the son 1s a 7172 12, nevertheless the 7 wonn R"Y 1s believed. However, we
believe the X"V in spite of the 217, only in combination with the original 5P, which
assists the X"y and conflicts with the rumor. Were we to compare the X"V against
the ?p without the aid of a 7P, then the 7P will be stronger than the X"y. for a
®p, which claims that he is a 7w 72 will invalidate his 71172, even against a

12 The n"27 miaT amends this to read Mo 2y 1PX7.
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mwa npm,13 however one 7, who claims that he is a 7217 32, cannot invalidate
the 7> against a MAws nptn.'* This proves that a 97 is stronger than an X"v. It is only because
the X"V is assisted by the M w> npin of the father in our case, that we validate the 7172, The
status of this 172 (after the 237 and the 2 wonn 7¥) is as it was originally, when we only knew of
the n1w> NP1 of the father, without a 7P and without an 7v; for the 93 and the 7v cancel each
other out.”” It is at this point that >"7 insists that any new 7v7¥ must consist of two 2°7v. This
proves that 0°1wn NNo vy X is valid even if there is no wona X"y.

SUMMARY

We know that 2"2w1 and X" are not discussing an 77 Y7y, since "7 stated
concerning their NP2 that 2°3wn NIND WY PX.

This ruling of n"5yX applies (only) if there is a Mw> nPIn, even if there is no
9°wonn 7v; similar to the case of 71117197 PYvn where the 2°wani7 7v and the 717 cancel
out each other.

THINKING IT OVER

moon asks that we cannot compare the situation in (7°0°2) 7X17°2 '0% to the case of
»"9, since by *"3 there is an 1°wani 7v.'°® Seemingly in Pw1Tp 'on, there is also an
J>wann 7v; the 7o who claims 172 11. Why is it any different than the case of Povn
ana9?Y

3 This we can see from our X73; even though it was X7 3727 M2aR2a i, nevertheless when there was a 717 of 12
w173 the 71970 was voided.
14 Seemingly noown derives this from >"3, who states D2awn Mo Wy PR. See 2"wnn and R"wIn in R,19 §7 M2ND
TnRm 7"7 '01, who question the validity of this assumption, that an X" cannot maw> NPT DIp»a 019, This is what
Moo is trying to prove, that an X"y cannot be %019 (even if there is no wana 7v), against a MW npin (it seems to
be circular reasoning). The 2"w1mn explains that we derive this (that an X"V cannot contest a mIw> npn) from the
$'XM3 answer in 7W17°P, that s""7 rule is only when there is a M1w> npin. This teaches us that when there is a npin
MIw> an X"Y cannot contest it. Our M20IN is (merely) explaining how the N7nx (there) come to the conclusion that
"3 requires "IN 7YY, not on account of the contradicting X"V, but rather on account of the m~w> npin. The
explanation is that there is no 7"wonn 7v since he is cancelled by the 7. Alternately the X"wann explains that
otherwise (if an X"Y can invalidate a M w> npin), the X713 could have said that an X"V invalidated the 71172 (without
resorting to a 917) and another 7¥ subsequently came and was 7"wan, etc.
15 Even though the 17 is superior to the X"v alone, nevertheless in combination with the 71, the 27 (and the X'"v)
cease[s] to function. Only the m7w> NP remains, which validates the 7373.
16 See footnote # 10.
" See ("2 7"72) n"m.

4

TosfosInEnglish.com



